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1. Find a complete solution of the following equation : (20%)
y +3y +2y=e?+Xx°

2. Determine the Fourier expansions of the periodic functions whose definitionsin
one period are : (20%)

1 O<t<l
f(t) =
0 1<t<?2

3. Find a complete solution of the following system : (20%)

(D+1)x+(@4D-2)y=t-1
(D+2)x+(BD-2)y=2t-1

4. Find the solution of the difference equation using Laplace Transform. (20%)

y(t+2)-5y(t+1) +6y(t) =5
where y, =1and y, = 3.

5. Calculate A’ -8A* +13A (20%)

-4 5 5
A=|-5 6 5
-5 5 6




